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OAZE A == M 70,0003 * 53] 350
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M oIS
M HAEALY
el Had 23 (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Hdad 8BS 1,753,628 1,673,072 80,556
= 226,842
Il 680,462
< 178,960
Al 667,364
HAE A& BSAY 35,000 35,000 0
307 2Iztol ™ 35,000 35,000 0
1 AMISIAIEE XS 35,000 35,000 0
OBAY HEEBANY(H2LHANSAREET
Ao )RI XA 15,000,000& * 1JH 2 15,000
OFLEESAY F& 10,000,000& * 2J0H £ 20,000
dad SENIMARS 180,200 175,340 4,860
| 90,100
Al 90,100
101 144 Hl 57,707 56,392 1,315
| 28,853
Al 28,854
04 JIZHHZ2REES 57,707 56,392 1,315
OSEXNAMA AAHB(ME=HH) 57,707
oot (252 29%)
1,199,770& » 2% » 128 28,795
J| 14,397
Al 14,398
OYESIHI (288 2¥)
1,199,770 » 2¥ x 50% * 23| 2,400
J| 1,200
Al 1,200
OFHZAHI (2528 2Y)
130,000& = 2% 123 3,120
J| 1,560
Al 1,560
Ozxl2Rag (258 29)
8,610& = 20AI2t = 2 + 128 4,133
J| 2,067
Al 2,066
OEIXMNYZ (252 29) 320,000& =12& 3,840
| 1,920
Al 1,920
O4UHEEANLNREL S (28 E 2Y%)
350,000& = 12& 4,200
| 2,100
Al 2,100
OJlg=g(2s8 29)
1,199,770 » 2¥ » 50% * 43| 4,800
| 2,400
Al 2,400
OJAXEH (25 2%)
1,199,770& » 250% * 2 5,999




SA QYA D
Ha: HAUAY

el EadE 8BS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 2,999
Al 3,000
O&E=g 60,000& » 1& = 7& 420
J| 210
Al 210
201 YEt2 | 15,580 16,850 A1,270
J| 7,790
Al 7,790
01 At 22l 15,580 16,850 21,270
OfI#s 2L (ME=4HH) 900,000& 900
J| 450
Al 450
onzY 2 (ME=4H) 11,180,000& 11,180
J| 5,590
Al 5,590
OEES MEH(MEFHEH) 3,500,000 3,500
J| 1,750
Al 1,750
202 O4dl 12,000 12,018 A18
J| 6,000
Al 6,000
01 = LH 4 Hi 12,000 12,018 A 18
CEEES LI EETI=N)
250,000& = 4H « 123 12,000
Jl 6,000
Al 6,000
301 gEtE 4= 4,813 2,410 2,403
J| 2,407
Al 2,406
01 MI2ZE+06l= 673 1,010 A 337
ORJIEAHE 2332X XNA(ME=HH)
372,000 372
J| 186
Al 186
ORJFEA~YE 2= A HEXNJA(ME=HH)
300,250 301
J| 151
Al 150
09 HALAHIEA S 3,500 1,400 2,100
OMSHHE SAAMH 243 3,500,000 3,500
J| 1,750
Al 1,750
MIEE4d3 640 0 640
OX2SAA AHIEAS(MEFHEH)
20,000% = 29 « 43| * 48 640
J| 320
Al 320
307 21201 A 90,100 87,670 2,430




SA QYA D
Ha: HAUAY

el AW 235 (29 & 2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Pl 45,050
Al 45,050
11T A EXAIEEX 90, 100 87,670 2,430
OXFAEHESXNIMARS(H=4H)
90,100,000 90,100
J| 45,050
Al 45,050
Ha4d gdas g3k 438,684 440,380 AN 1,696
= 219,342
& 65,802
Al 153,540
307 2iz2to| A 438,684 440,380 N 1,696
= 219,342
&< 65,802
Al 153,540
11T AISIEXAIEEX 438,684 440,380 AN 1,696
ognE ozt 249 438,684 ,000& 438,684
= 219,342
o= 65,802
Al 153,540
HaddEyH 29X 729,388 712,132 17,256
J| 364,694
=} 109,408
Al 255,286
307 QI2t0| & 729,388 712,132 17,256
J| 364,694
= 109,408
Al 255,286
05 QIZtREZ 729,388 712,132 17,256
oOFAEHEHH 29 XNE 729,388
Ogs) EAdaEH 29 (15~202! 0]8tH)
277,660,000 = 1JH A 277,660
J| 138,830
& 41,649
Al 97,181

O0EIl EAdEHH 22 (10~152 0/18H)

173,536,000& = 1JH A 173,536
Jl 86,768
< 26,030
Al 60,738

OYN BArUH 29

278,192,000& = 1JH A 278,192
Il 139,096
& 41,729
Al 97,367
sEAZEZ2JH2I XA 85,024 85,020 4
Il 42,512

Al 42,512




SA QYA D
Ha: HAUAY

el EadE 8BS (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 85,024 85,020 4
J| 42,512
Al 42,512
02 PIZHEHAHE L 85,024 85,020 4
OHAE SUN ZRIY 29
85,024,000& * 1JH A 85,024
Il 42,512
Al 42,512
FadRoiIZAH 2Y 15,000 20,000 A5,000
= 7.500
< 3,750
Al 3,750
307 gl2tol & 15,000 20,000 A5,000
= 7,500
< 3,750
Al 3,750
02 It M AHE L 15,000 20,000 A5,000
OBAE SHSBBAANS 29
5,000,000& = 3JH Xl 15,000
= 7,500
< 3,750
Al 3,750
st & 4@ K& 234,000 193,200 40,800
J| 163,800
Al 70,200
101 @14 dl 82,500 55,022 27,478
J| 57,750
Al 24,750
04 JIZHHZ2XNHESE S+ 82,500 55,022 27,478
Ot % HAEXR QAU (NHEHE) 82,500
OJ123(34Y) 56,685,000 56,685
J| 43,180
Al 13,505
OYESItHI(3Y) 3,443,000 3,443
J| 2,410
Al 1,033
OFHZAHI(3F) 4,680,000 4,680
J| 3,276
Al 1,404
O=l222+<(3%) 6,192,000 6,192
J| 4,334
Al 1,858
EI AN Z(3Y) 5,000,000& 5,000
O4UBE AL NEL S (3Y) 6,500,000 6,500
J| 4,550
Al 1,950
201 LBH2E| 20,000 22,778 N2,778




SA QYA D
Ha: HAUAY

el EadE 8BS (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Il 14,000
Al 6,000
01 At 22l 20,000 22,778 AN2,778
OMH2ZH (ME=HEH) 3,000,000& 3,000
J| 2,100
Al 900
oZzY 2IHI(MEF=HE) 17,000,000 17,000
| 11,900
Al 5,100
202 O4dl 7,500 5,000 2,500
| 5,250
Al 2,250
01 = LH 4 1l 7,500 5,000 2,500
OYRFEX HEBI(MEFHH) 7,500,000 7,500
J| 5,250
Al 2,250
301 L2 A F 7,000 0 7,000
| 4,900
Al 2,100
01 MEIBEE 253 3,000 0 3,000
OstuHaEs2E NN 3,000,000& 3,000
| 2,100
Al 900
09 HALAHIE& S 4,000 0 4,000
OSDUNAHE HAMY 243
4,000,000& 4,000
| 2,800
Al 1,200
307 glz2+ol & 117,000 110,400 6,600
| 81,900
Al 35,100
02 IZtE M AHE X 117,000 110,400 6,600
OD 4 AL (YEME)
117,000,000 * 1JH 2 117,000
| 81,900
Al 35,100
sStwEyg FAAS XNJHEH 25,692 0 25,692
| 12,846
Al 12,846
307 2I2+0 & 25,692 0 25,692
9] 12,846
Al 12,846
11T AISI S XA E = 25,692 0 25,692
OStNE2 AAE NAME (FEHLrENLSE
[dIEf X&) 25,692,000 25,692
| 12,846
Al 12,846
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